Unit Circle and Identities Practice . Name KFM

This worksheet will be turned in before leaving class. Worksheets wft-}l no work shown/attached
will be given zeros.

1. For each restriction given, circle which quadrant or quadrants apply.

a.0<6<m < @ «©

@
b2<8<Z . Q4
c.sinx >0 . Q4
d.tanx <0 Qi i @

e.cosx<0&sinx>0| Q1 Q2 Q4

f.cscx < 0&secx <0 . Q4

2. Without a calculator, evaluate the following:
2my o - tan?(60%) — sin?(45°) 22 57\ _ ean (5) 2 2
a.tanz(g) 3 c. tan?(60°) — sin*(45°) 2 e.cqs(s) tan(4) -—7:

b cos (371[) . 535): "\l-z d. cos? G) + sin (g) =__§__ _

4

3.1f cos 6 = —%, ~ < 6 < find the exact value of:
a.sind =ﬁ b.tan @ =ﬁ c.sinZG-‘:—Sﬁ
"q 3 | -—"‘8.
4.If sinf = %. 0<6< % find the exact value of:
20
a.cosf = 1&= c.sin29=""’2"
13 [”
b.tanf -~ S ' d.cos26 = ||9
12 A

sin 2x—sinx
5. Show that = tanx
cos2x—cosx+1

2 shossxsink. , SARGESED . duy
205 x -1 -cosx +1 cos x ( 2cos x-1)




a smx=% b.cosx = —-
- T -
LRI

7. Fofind all values of 6 such that:

c. tanx=\f§

5.5

a.tanx = —1 b.secx:zl 5 ESE . = — B r
CosX = Siax :zL . NZ
T ST
x 3'"3 ~ = S'TY' g
Lf
8. Find all 6 trig values for: ‘ ) s
Lgott SlaB® V2. cseoc2 Cgoln S\f\e‘-‘% Cscd =
6 wsefﬁ/ﬁ S 4 costr= 2 seco’ 2
+an 6= ;r-.-; 60‘?'9"—@ Jang -l ot o -1
b.g =2 d.o=mn
3 . . '
Qng= f} cscé“é— SingD  cseosundtfiaed
o:"Y2 Secei-2 cos: -l Secor -l Lk
. \E toz ) Fang 0 et © 2 undenae
g2 ND =
9. Show that:

a. 5 — 5sin%x = 5cos?x L\qr\‘f  &CF

b. (cosx — sinx)? = 1 —sin 2x Hhat: eIDPMJ |f‘p+ S\‘AC

c L an —sinx \4‘\/\‘\ f'bp\at.e num eatc

" sinx



